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Note : Question no. 1 is compulsory. Answer any eight 
questions out of the remaining nine questions. 

1. (a) "I use a lot of maths while working in the 
kitchen," says a friend of mine. List 
4 distinct ways in which she would be using 
mathematics in the kitchen. 

(b) Which of the following statements are true 
for all values of x, when x is an integer ? 
Validate your answer. 	 4 

(i) If y = x3, then y > x. 

(ii) If y = x + 4, then y > x. 
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(c) (i) What do you mean by a half of a whole ? 
Give its pictorial representation. 

(ii) Give an activity for a class of 
30 children to help them understand 
the importance of equal parts in 
depicting fractions. 

(d) State whether the following statements are 
true or false giving reasons for your 
answer : 
(i) Mathematics teaching and learning 

needs to be linked to real life 
experiences. 

(ii) Lack of understanding of mathematical 
concepts 	affects 	learning 	of 
mathematics. 

(iii) Minimum number of straight lines 
needed to make a closed figure is 4. 

2. (a) What is E-L-P-S sequence of learning a 
concept ? Illustrate this in the context of 
teaching the concept of decimal fractions to 
the children of Class-4. 

(b) Explain the difference between capacity and 
volume. Devise an activity to help children of 
Class-5 understand this difference. 

3. (a) What do you understand by closed and open 
figures ? Explain giving two distinct 
examples of each. Give a detailed activity to 
help children distinguish between open and 
closed figures. 

(b) Give an example of a situation that shows 
the confusion in children of Class-1 about 
left and right. Devise an activity to help 
children overcome this confusion. 

4 
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4. (a) Give twa distinct activities to assess the 
understanding of Class-5 children about the 
concept of an angle. 

(b) When Ragini was asked to subtract 1 hour 
40 minutes from 2 hrs 15 minutes, she gave 
the answer as 1 hour 25 minutes. What 
could be the reason for her answer ? How 
would you help her rectify her error ?

- (c) Represent —4 3 pictorially. 
5  

5. (a) Give two distinct types of activities to 
convince a child that division by a fraction 
is multiplication by its reciprocal. 

(b) What is the binary system of representing 
numbers ? How many digits does it use ? 
How would you represent 21 in binary 
number system ? 

(c) Give an example to illustrate that 
mathematics is a hierarchically structured 
discipline. 

6. (a) Give an example each with justification to 
illustrate the following statements : 

(i) A child can recite number names even 
if she cannot count. 

(ii) Children know some mathematics 
before they enter formal school. 

(iii) Understanding of multiplication tables 
is important to understand 
multiplication of numbers. 
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(b) What is the difference between repetition 
and rote learning ? Explain this in the 
context of introducing children to 
multiplication of numbers. 	 4 

7. (a) Suresh, a Class-5 student, says that to 
find the cost of painting a room with sides 

`b' and 'h', he needs to find the product of 
1 x b x h and then find the cost of painting. 
Do you agree with him ? Give reasons for 
your answer. 

How would you help him to calculate the 
cost of painting a room ? 
	

4 

(b) What are the standard units of measuring 
volume ? What is the need for using 
standard units for measurement of volume ? 

(c) Give two distinct activities for Class-4 
children to introduce the concept of division 
of numbers. 	 4 

8. (a) Devise an outdoor game to help children 
estimate distances. 	 2 

(b) What is meant by saying that "errors made 
by children are a part of their learning" ? 
Illustrate it using the examples of addition 
of numbers. 

(c) Give one example of deductive logic in 
mathematics. 	 2 

(d) What is meant by 'concrete to abstract' ? 
Explain this in the context of symmetry in 
figures. 	 2 
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9. (a) Give three word problems, each of a 
different category, that are represented by 
7 x 5 = 35. Which one of these would 
children find more difficult to understand 
and why ? 	 7 

(b) Suggest a group activity which can be used 
to help Class-1 children learn addition facts. 	3 

10. List five guidelines for preparing a lesson plan. 
Illustrate each of them in the context of teaching 
children the concept of place value. 

	 10 
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